MANATEE COUNTY GOVERNMENT INTENT TO AWARD

2/15/18 TBoswell

	The state of the s			
IFB No.	IFBC No. 18-R067493-10V	DATE POSTED	MC X DS X	CC
PURCHASING REPRESENTATIVE	Olga Valcich, Ext. 3055	DATE CONTRACT SHALL BE AWARDED	Seven days after and negotiations	
DEPARTMENT	Chad Butzow, P.E., Field Operations Services, Public Works Department	AUTHORIZED BY DATE	Theresa Webb, CPSM, C.P.M., Official	

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract to Quality Marine Construction, Inc., Palmetto, FL, the sole lowest responsive and responsible bidder, for the Palma Sola Yacht Basin Retaining Wall repairs for a total bid \$249,152.80, based on a completion time of 150 calendar days.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/DISCUSSION

- The project is subject to funding by the Public Assistance Grant from the Federal Emergency Management Agency (FEMA). The Scope of Work includes demolition and replacing 67 linear feet of damaged 8-inch concrete sheet piling retaining wall and reconstruction of a new retaining wall with 20-inch concrete sheet pile retaining wall in the same location. This damage is a result of Hurricane Hermine in 2016.
- On December 21, 2017, the County re-issued Invitation for Bid IFBC No. 18-R0067493-10V, Palma Sola Yacht Basin Retaining Wall Repair (Project No. 0008128). The IFBC was advertised in the Bradenton Herald legal ads, the TEMPO News classified, and on the Manatee County and the DemandStar websites; solicitation information was also provided to the Manatee County Chamber of Commerce and the Manatee County Black Chamber of Commerce for release to their members. Additionally, eleven (11) bidders were directly notified via email. Quality Marine Construction Inc. was the sole response received for consideration per the attached tabulation.
- In polling the bidders directly notified, responses received were as follows:
 - (1) Extensive workload due to Hurricane Irma
 - (2) The project is not large enough to travel the distance
- In accordance with federal regulations, and prior to final award of the project, negotiations with Quality Marine Services, Inc. will be conducted in order to determine if Quality Marine Service's profit in the offer received is fair and reasonable.
- Project will be funded Stormwater Ops and Engineering Hermine.

ATTACHMENTS (List in order of attached)	Public Works RecommendationTabulation	FUNDING SOURCE	460-0008128-Stormwater Ops and Engineering – Hermine.
COST	\$249,152.80	FUNDS VERIFIED	N/A

IFBC No. 18-R067493-10V

Rebid of Palma Sola Yacht Basin Retaining Wall Repair (Project No. 0008128) BID Based on Completion Time of 150 Calendar Days

Quality Marine Construction, Inc., Palmetto, FL (941) 812-2072

1	5 110-1-1 6 110-73	3 104-11 4 104-18	1 101-1 2** 104-10-3	# ITEM
	CLEARING AND GRUBBING REMOVE EXISTING BUILKHEAD	FLOATING TURBIDITY BARRIER INLET PROTECTION SYSTEM	MOBILIZATION SEDIMENT BARRIER	T DESCRIPTION
	0.10	250	100	QTY
	AC	EA LF	LR LS	U/M
	\$4,000.00 \$99.49	\$8.00	\$46,000.00 \$6.67	UNIT PRICE
	\$400.00 \$6,665.83	\$2,000.00 \$666.67	\$46,000.00 \$667.00	EXTENDED PRICE

TABULATION IFB18-R067493OV

Rebid of Palma Sola Yacht Basin Retaining Wall Repair (Project No. 0008128) BID Based on Completion Time of 150 Calendar Days Quality Marine Construction, Inc., Palmetto, FL (941) 812-2072 IFBC No. 18-R067493-10V

	ors of the IFBC.	matical Err	34, Mathe	NOTE 1: Bid Items ** 2 and 10, were corrected in accordance with Article A.34, Mathematical Errors of the IFBC NOTE 2: No WBE / MBE Supplies to be utilized in this project.	1: Bid Item: 2: No WBE	NOTE
\$249,152.80				TOTAL CONTRACT AWARD WITH 10% CONTRACT CONTINGENCY		
\$22,468.79			7 19	CONTRACT CONTINGENCY (10% OF TOTAL BASE BID (Used only with County Approval)		
\$224,684.81				TOTAL BASE BID (ITEMS 1 - 18) BASED ON A COMPLETION TIME OF 150 CALENDAR DAYS		
\$1,999.20	\$7.84	SY	255	PERFORMANCE TURF, SOD	570-1-2	18
\$18,697.50	\$207.75	듀	90	CONC SHEET PILING, 10" x 30" - 18' LONG	455-14-3	17
\$91,410.00	\$207.75	두	440	CONC SHEET PILING, 10" x 30" - 22' LONG	455-14-3	16
\$3,994.08	\$6.28	LB	636	STEEL ANCHORS (1 - #9 BAR WITH CORROSION PROTECTION)	415-1-8	15
\$665.28	\$3.36	LB	198	REINFORCING STEEL - BULKHEAD CLOSURE	415-1-8	14
\$6,666.66	\$2,886.00	СҮ	2.31	CONCRETE CLASS IV, BULKHEAD CLOSURE	400-4-8	13
\$5,324.40	\$5.40	ГВ	986	REINFORCING STEEL - BULKHEAD DEADMEN	415-1-8	12
\$1,866.63	\$209.97	СҮ	8.89	CONCRETE CLASS IV, BULKHEAD DEADMEN	400-4-8	=
PRICE	UNIT PRICE	U/M	QTY	DESCRIPTION	ITEM	#
EXTENDED					FDOT	ITEM

Repair - FEMA Project IFBC No. 18-R067493-10V, Palma Sola Yacht Basin Retaining Wall

PREPARED BY:

Olga Valcich, Contract Specialist

5-Feb-18

(Bridge Engineer)

REVIEWED BY:

Steve Laney

2-5-2018

MEMORANDUM

To:

Chad Butzow, P.E., Deputy Director-Field Operation

Services, Public Works Department

From:

Theresa Webb, Procurement Official

Through:

Olga Valcich, Contract Specialist

Date:

February 5, 2018

Subject:

Award Recommendation



Per your request, the Procurement Division issued IFBC No. 18-R067493-10V, Palma Sola Yacht Basin Retaining Wall Repair, Project No. 0008128. One Bid was received on January 24, 2018. After completing the due diligence review to confirm bidder met the minimum qualifications and submitted the required forms and documentation, a bid tabulation was completed. The lowest responsible, responsive bidder is Quality Marine Construction, Inc. Attached is a copy of the feedback from the firm's client references, the bid tabulation and the bid from the company for your review. Please provide your feedback on this recommendation to award to Quality Marine Construction, Inc., by February 8, 2018.

0	Recommendation approved.		
	Recommendation not approved.		
Comme	ents:		
	ents.		
CA	tment/Division Head Date		

Cc: Steve Laney, Bridge Engineer, Public Works Department Glenn Sloan, Field Operations Chief, Public Works Department

> Financial Management Department, Procurement Division 1112 Manatee Ave. West Phone number (941) 749-3043